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esuw (PPt GumigsTeln QumiwrGs!
Qeuw eSananset QewwnGg — &dena
elanfléy Lmeneuset Bl erwinGs”
\)}Q Qumiggrgywo x QumiuwnGs (B) Qumuggrand x GewwrCs,

(C)y Qumigsrayb X eweaunwnCs (D)  Qumiggmayd X aniwrCe,

68. Suwase_ Qannsenen erg) erfrsbera @amea?
(A)  Qauwigss X Aswiwinesio ‘/(B’f] BEHOWMUG X (LEHEIDOWTETE)

(C) uLOms x upmeSLe (D) Qumist X QunkiEgse

69. Spésar QerpsErer ergy erasQEnd @) deamen?
(A) seolulLea X oL UL L e
(B)  uwdlgige x LddmsE
(C)  gnyeny X wyLiyer

- - (/(Ei) unenegwidleya Cuinm X grgflwwnsds CuaGeum

70.  aunsHw LU Gmand S Hlge :

Geuewen BemmraLs Lig 5550 CaTelled (psa wHAUCUERT GLDHMHIE — eTaieUems uTGHWLD aend & (s

(A) o ewmrFf eunsEwn B) e Leurl(® eunsHuwin
(C) senelenen cursdwio \/@) Foenay aursHwub
A 19 HLT12
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71. =6y eflmeuy Gariasner &1 Qauis :

(A)  Co_wid, D50, Gi-b, SL1bd (B) Q8. Cswb. sLb, @b

(C) @@L, s, Gsiww, Qs }D‘)‘ | &L, G, G, Garuid

72, “apadl mie” eren e Qumd Garare pid wing)?
(A)  wveflCoame \/@ Feus Approead

(C) par_wtsd (D) aveemwrud

73, pBmeaNHE Sy hag — @iy aanp Quuwrslatadean auams ibls.

\M woallanwg QsTdn6uwr B)  Qar@nQuuwr

C)  yaeflame Afps AsmPHG@uwd D)  sreuuwr

74, Crvldsnm GNEE Spssamr_eupmer sflunerg eTg?

(M @malr sdwemg seulr saduugCu  samais. CupGsrer @OHWEH GLbllumb.

aparcfleas GuwiTaer @i bQumpib

B) g@arsadluems SiiuigGu Sanmoed SIWEMT & eugy)

©)  ¢mBsudaws Agefauras QafelagL

(D) eSamnis Quim@meT Gmb eurGSu

HLT12 20



75, Geeu(miD (@Q)e0d&esH IS (ETET HEUDTEIS GT5)?
(A)  woeubhs - adinern llwukCarar edlanes
\/(Bj SiNlsaorsan — eSlaansblemd
C)  weigd Lo - %g)rru;b Caupmenwsbgrans

(D) ewausumer - 2 NeQamn@mmm

76.  &efl@hi HeuTsw @uwhHEuwmb Qunmhgdn sflwne elevLeaws CorrEs0 :

&6l @pit GuipCuusr
(a) sameTgnaa 1. grsCarumed
(b) eunaxlgraen 2. suyrsdHend
()  a&gsm 3. ershras
(d) ungdgngen 4. (psodILT

(a) (b) © (d)

A 4 3 1 2

B) 1 2 3 4
(®) 4 3 2 1
(D) 2 1 4 3

77.  "Gagm wenent Geliyeu glenL Gues”

21 Gamy L Garaelen Qadseamd wng?

(A) CGswenws s AB)N FmQsLL adiwenp QUwyesd
(C)  &Neven@ugsd D)  geue sdanarapmmy
A 21 HLT212
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78. el sCapnn alaimenas Ggis :

‘el (p&s WD GaTLITeN g o isb 16"
(A)  AEasiur fmlcwwgn? \,@ eSl(sE 5D un(heudled 2 wIHEEIT ILra?
(C)  earurag? M) NmgsCw sovamn?

79.  feo&Csnn eflanmencus Gais :
3 - e . 1)
BLLenansd Wanp mibeiiemer praw
(A)  mBlcaver adara Claiu Coueim(BHn?
\/B) B Selenen Brig 5D erenes Gauin Geaiss (Hin?

(C)  pheSianar mbemio eranar GlgFwiun?

(D) mlicam wri?

80. ‘'upe’ e GuwirsQarwaler cuens M
\))()“ GummLGLwr (B) sreouGuwm

(C)  vawn (LQUIWT D)  wagg b Qoanw

8l. ‘Qampens’ crenm QLwngblamiade cuems i s -
(A AeoarLGuwi (B) sraduQuwun

(C)  veryLGuwWr ‘/CD? @ nGLIr

82. &l (Emgn! iy lsg sflwrer' Aummenar s

\/@{)\ U TEn & - &em

_ (B sy - FHSGSD
(C)  smenw - (BHEDDES
(D)  aRGQumer - &MY

HLT12 292



83. CeurnsQanivena Azlley Csw

G ITly 6817601

(A)  eur (B)  aumguw

‘9/)/\ () D) ean®s

84. msm - aengyd Geursblgnveles QgmAntuweny eT(pgs :

(A msise B Tnsise

©) msMHs (D) meamsumen

85. ulqwe [— o erer Qerpasnar L gwie [I-a o arer Qerpaafian Quinmerdig @HuHsmearsd Qameae @

G&Néseyw.

Qaned Qunmar
(a) swebd ' 1. GUGTLD T
(b) o 2. LimsLy
(¢)  woee 3. adeney
(d)  =ipey 4. STLOET

(2) (b) (© (d)

(B) 3 4 2 1
(®) 4 2 1 3
(D) 1 3 4 2

A 23
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a1~ erenapd Geunrgllanavedlan eSlumiCGamenr eflananppanm 6 (s

(A =pan® (B) e

</
ﬂ SETE D)  yered

87. Qardaslin (Haren Ganpa@asnal Gledswas @i sald aMes wrprg sfiure @eamang Carey

Qe .
u®HA. 568

JA{ sllenengCgrene, et SEETans (B)  ueryglsrams. elenansblgrens
(C)  uvanysQgnes, LT sCgTms (D) vemysQsres, o banwsbsMans

88. @& Caumyur(y sifipgy shwrer Qummener Mg,

D@ aar
\}/(5] FLG D@ - Uba
B) s@psso - B &
@  ubm - DHEPPSEHD
(D)  Guorgy - Bierm

89. Qanpsmer ELHSSH QearnQpr_rré@se.
(A)  uflfle sar() urflew Lnryw sBeT QUODTT
B unflenws sesr() aGeor QupnrT umy afldle
(C)  searlm Qumnrr uflfle urg sler urflaw

/(ﬁ\) s Qar urflenws Fear(N Limg uidle QupprT

90.  Quiipreni - Bossans @iy &(155.
(A) Qsnevelens er@uen (B) rp@siL adiwenp QuuGTEFsLD
\/(,6? Qednjefiens ser@uen D) @eaewswanQuean

HLTI12 24 A



91. el Geumun(y sidlpg sMwner QunmenarwdHeD :

sang senm
(A)  geos - Ciosw
(B) <SiwEse - FnL S
©) @wss - s(mLY

\/(D)’/ GETHEET - FOTRIGLD

92.  ‘wruuneeu Brastd 2 LA W@EHL o Gure’
arenm 2 euaniouien Quinmeneng CaIHOS(H &S :

M i Gave B) usgemiay

©€) vwLEse D)  apwné

93. 2 auemwsE goHp Qurmpsswrer Qurmanar CsiEQsHHS eT(WEIS
"o 5 Hlaasemer BT WMSHDH”
(8) &Awb uroyo Gure (B) Qweyarss Sefl Gure

(Ch Sewimms seuaner Gumen (D) @enalien u L yep Cure

94. o oeumwsE gnm urmsswrer Qunmerer CaTHEALSMHGSH TGS
“gaflud(mas srl a9 moGug Gume”

Lﬂf\a@wmm (B)  siley

€) Qeumiy D) Queéy
95. yeeurmpmLiueL earn et @wmdluiréd GHlsaubumyh Hied
\/(Aﬂ HEpHETHHLILML (B) Quammrrhmyliven,

(C)  AgumemrrdHmiienL (D) QumburemrThayuuenL

96. QuuwrEReraaar wend s :

@aflenwo eramugy
(A QummlQuuwir B) AeansQuurr
‘/(,G)\ (P (WTNTATINE (D) QarPin@uuwt
A 25 HLT12
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97.  Qunmsgie

(@) LreLTapoed 1 (PETEBLD DA (HLD

(b) 2w shdgen 2. Ceunser

(¢)  @musTHS6 3. 50 Yerd @,

(d)  Emeiyaniveni 4. wrammafl wallgrser

(2) (b) (c) (d)

(A) 1 3 1 2
Bl s 1 4 2
(®) 4 2 1 3
(D) 2 4 3 1

98. "99 wersemer QamaTL HIW Wng)?

\/(1()\ @Hesdl un B (B) uvlgeliurme

(C)  dmposiTdonuuem (D)  QuamprrHoLueL

99. “@wwel Yarfllbend eurpgser @eNCs” QummeTLHL HID Wrg)?
(A)  @ewenm proUg (B) sranwefsagms

\}Z\ @aflwene BrHLIg (D)  sareufl mrHLE

100. “w@ssdley aeilgmum” aram iep&SUUGUGUT Wi ?
(A)  @rmosssdlg seQgrw B) selsarerGLab

\/(Z(X 2 Heme BryruaETEses) D) HNsgredur selgrwm

HLT12 26



101. Match the following :

(a)

(b)
()
(d)

Speumeuareupeny sflwng QuMHsEs :

(a)

(b)

(©)

(d)

(A)
(B)
(C)

(D)

(a)

(PTERTTENG)

(a)

2

State Governiment

(b)

(b)

1

Q]

Appeal from High Court

Single integrated judiciary

(c)

(c)

4

Dispute between Union and

Declaring a law unconstitutional

(@)

wsSw-wrhle sirsseflern Grssmanser

@@ s_Lb 7flwed srsansHins

e wrbduoeamsHdlmbe Cued wpamuSL(

@O@WL EHEdmanhs Biwdad

(d)

3

27

Judicial review

Original jurisdiction
High Court

Supreme Court

B8 wmy ey

(PSRTEOD YHTT HE&TTD

o wibfamid

2 5 wamd

HLE12
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102. Consideyr the following statements :

[. Kwashiorkor is a protein deficiency disease

II.  Kwashiorkor is an iron deficiency disease

I1T. Kwashiorkor 1s a nutritional deficiency disease

Now sclect the correct answer.

(A) TandlIl are correct (B) II and III are correct
\/(,Cf)i [ and JII are correct (D) All three are correct

Sipsse cunsdunisamens seuaf :

I sCeunadlgrant, yiss @eneurd amd Grmi

II.  sCeurnaflgisnt, @mDLESS G neume aurid Crmi

[TI.  sCaunaflgrsrt, ssgarmey GOeumd eumbd Comu

eflumra efen_w g GasTrEs(
(A T wpmn 1T s (B) 1l womw III &l
(©) T womyw IIT & D) eparmyin gl

103. The younger leaves of a tomato plant in your garden shows interveinal chlorosis. Select what

supplement you will give?

(A) Sulphur \/(/B§ Iron

(C) Copper (D) Molybdenum

o s GenlL shaater goarafl Qaguiler @Gad Geomesald®, prblla_sald uvFeamsgund @eid

el (NEDe). BDE, Brisd eraen she) el Sieer?
(&) sppaw B) Qmvy
(C©) srdgn (D)  wredldigend

HLE12 28 A



104,

The soil zone 1s considered to be a great biological factory because;
(A) a great varieties of organic compounds are generated in the soil layers
(B) necessary nutyients are made available to plants from the soil layers
(C) =oil layer holds water in storage which is used by plants and animals
o .(_TB . all of the above

2 fAlens QampPnamepaulen e (P& ARSDTS wer HH&HE arhiEHng. glaalio;
(A)  war SO&GsT Lgriul L 2 GTEAUTmHeT 2 HuSE eueTT&HLNE SN
(B)  wer ABGEEFAS BB, sTeuThsEsE Comawar s5g1Es6 o sdens)
(C)  sreugrusEns e, sdwkEsEnsEl Comeuwina ST wa 2B Calgs meausaiiu®Hang
D) Cuhamdu simasgibd

105. Name the neighbour galaxy of our own Milky Way galaxy.
(A) Antha (B) Aquila
(C) Andromeda (D) Auriga
BLg Lreeuy edlarSar sl LgHlan Dimsenwhs edlamben salLgdlan Quuwi.
A) e Swr (B) ia@geon

JQ)’I <@ CrrGuoL_m (D)  <hsn
106. Every vear, May 22 is celebrated as an

\/(?Q International Day of Biological Diversity

(B) International Day of Tree Plantation
(C) International Day of Environment Conservation

(D) International Day of Conservation of Natural Resources

gauQeurm e Guw 220 Gadepws Hanons QanaLnHHCmmod.
(A)  ueenT () T6UT UDGIEHHEDLD BT ET

(B)  werenm_() b B mrer

() Lenent () sHmé G UTEISTEED preT

(D) veent () QUihens uaTEeng LTHISTEEWD BI6T

29 HLE12
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107.

- 108.

Which of the following is/are wrong?

I The Indus people had the knowledge of surveying and geometry
II.  Indus people had the knowledge of Astronomy

III. Botavical aspects were very familiar to the Indus people.

(A) 1 By TandlIl
ol
(C) I, Il and 1] are wrong \9}7 11

19l 6tr6u (IheuETaU D MIET FEuDMEsTenal eT&)/ sTeney ?

I Spgmuued wsser Ha seTae LHMID euer safllsw LDHL sidaencs QuDHHBSET.
II. &gl uEd vssepss eurallud sidea] @ (@HsS.

I sreus Quier mbsmseeris undl g &5 E%EE, berE 0558 HHss) .

(A I B) Twomw II

© 111 wpmo (b seuy D) 111

Which of the following Vedic Literature contains the fine specimens of lyric poetry notably

addressed to the Goddess of the Dawn (Usha)?
(A) Chandogya Upamishad \/23{ Rig Veda Samhita
(C)  Yajur Veda Samhita (D) Atharva Veda Samhita

Eipssenr_ aihs Cous med aSlipwe dues Qg uaiwner (2 agm)-eneu UMM Crigdwiner Gepaliml L s

LML 5568 LITLe&anar Q& raer (DeTers, ?
(A)  s5GsTs 2 uflesbd (B) M& Geug sadlgw

C)  wggor Goug sbadsLd D) <sies Ceug sbalsbd

HLE12 30 A



109. Ketone bodies appear in the urine due to diabetes mellitus during

\/(1’(5\ Ketosis (B) Albuminuria

(C) Creatinuria (D) Myoglobinuria
Brfleften erbs Hleneoutey HmykAe LCLrer Qummenaser Caranmin?
(A) &ECLden B) yeoydanfur

(C)  ARwrigayrfivr D) wGuneEGarmSgnfluim

110. The GPSisa
\}Aﬂ Satellite based system that can be used to locate position anywhere on the earth
(B) Satellite based system that can be used to identify the type of forests
(C) System used for measuring earthquake’s magnitude
(D) System used for assessing population density
GPS aranugy
(A)  yeulenr Cupugule oerer @Lmsellan siewwelgong GeunassCarasdar paw M Hs
Qamnerened
B) ar@seflar cuanssener QeLinanssCaratser aped HMlbg Q& Terare
C) BHe freysafar uflinreamgens QswbamssGararaer apabd HMbg Cararard

M) wsseaLigHuller Lgaime QewhessGsTaad ipab i

111. Sarva Shiksha Abhiyan (SSA), one of the major important educational programme 1is

connected with the

\/@) Elementary Education (B) Higher Education

(C) Vocational Education (D) Aduit Education

‘sirey Asaer sQwrer (SSA) erayn (pa&dwinrer soals Qaraenswnang Qsalan QgmiyeL wg

(A)  dgr_ssasoed hlane (B) ecwmfenss sae
(C) Qgmfinsaad D) wHCwri sevel

31 HLE12
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112, If the GDP 1s measured at the price prevailing at a point of time, then 1t 1s called
(A) GDP current price (B) GDP market price

y\ GDP constant price (D) (A) +(B)+ (O

@ oML Crrsgde Heoeydlan eSeameular oiglumewbies GDP-aw oemelilLnd, oess
Epsaameummy G&HUGLmD

(&) pruyeleeuie GDP (B) msng eleauier GDP
C) Hevowrar efienaulsd GDP D)y (A)+ (B)+ (C)

113. The product method of measuring GDP involves
(A) 1ncomes generated from the production of goods and services
(B) adding up the value of evervthing produced in the country during the vear
(C) addihg up all expenditures on final output

(D) none of the above

2 DUSH (D Sigluaudled seredu®ib GDP o eateri_sdlwigy
(A)  Qummenset wHmL Cmeusaiar 2 HuGHuilen CLng o (HaunssIURD CuHOTEID

\/035) S GHUIL eumLsElea m Briind e hHusd Qeuwin®b eeeunm Hummetlen wWHlmD
& (Heugl
C) ey Hewauda 2 erer Qunmeasaiear Bsran Qgwellamen sal (Haugy
(D) Cunlseraen ergiaw e

114. A higher interest rate might induce households to but businesses to

\m save more, borrow less
(B) save less, borrow more
(C) save more, borrow more

(D) save less, borrow less

21H& Gullg eIFLTeNs e(h &OHDL UL FITTHEEIeNT Qe gneir(Hib. peTTed
Qgriflay Blmeusnbseanen

A)  @dswora Cafluy wHMmb GemDeuns sLa aurhs gem (Hin
B)  Gompeunar CafluL) LoD HHSLOTET HL 6T QU &S
(C)  eflawran CalUy LHMID HHFDTET HL 6T QUM GG
D) Geeunear CaSILL) LOHIILD G ETET HL 6T QUGS
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115. Consider the following :

I

11

ITI.

IV.

CO burns with a blue flame
CO 1s good reducing agent and reduces alkali metal oxides

CO is toxic because it forms a complex with Haemoglobin in the blood and this complexes

1s 300 times more stable than oxy-haemoglobin

CO form complex with N1 at 50° C and decomposition resulting complex gives pure Ni

Which of the statements given above is/ave correct?

(A)

All are correct

V(Bi I1 is not correct while I, IIl and IV are correct

(C)

(D)

11.

111

V.

(A)

B)

(D)

I, II and III only correct

II, II1 and IV are correct

CO. e Bln& s (e sTAWIS nig i)
CO eramgy Alas Anps sadnet @hsd Qs sy 2 Cars smenBsamer §H&GHDS

CO aaiug Béssseammw auribsg. @& @QrsssHd o aer adCumECariagyan Qeaarbg
Senemteys Camngens gmb. @)he cﬂum@ﬁms Gerwis, ysadlabGungGarmGenar el 300 WLk
Boassaon HEbss

50° C Qeutflaeauiad CO erarug) Ni oL an Gaibg sameaneys Caivgams smo. @FGaron
feonge D giul Ni-g smio.

Cupsranw spmaafld ogi/aamen sMwuneareneu?
NG sMlwneseney

IT sQwnengs sisver garma [, 111, IV eftwurereneu
I I I ol (B ePuareneneu

11, 111, IV bl ®w sflwrereney

33 HLE12
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116. Reduction of 'smoke and collection of fuel wood’ to check deforestation is promoted by

(A) Community and Institutional Biogas (CIB)
(B) Institutional Bio-gas Plants (IBP)
(C) National Programme on Improved Chullas (NPIC)
(D) National Project on Biogas Development (NPBD)
5TH&ET Difigemna sHULSDHHTS 1jens WHMID TRQumm wiss m_gar Coafllssme @@pLUSHETE
FHuBssUULBEen ey
(A) Community and Institutional Biogas (C1B)
(B) Institutional Bio-gas Plants (IBP)

\){Zﬂ National Programme on Improved Chullas (NPIC)

(D) National Project on Biogas Development (NPBD)

117. Which city 1s famous for ‘Kumbh Mela™
(A) Ujpain . (B) Thrissur

\}QS\ Hardwar (D) Uttarkhashi

‘BwuCwert Hmellpmeiing Lsp GUDHn BT eTgy?

(&) 2 50mu9ern (B) AA@n

(C)  amfiggieunt D) lagﬁ\qa;mﬂ

HLE12 34 A



118. Article 3 authorises the parliament to

I Form a new state
II.  Increase or diminish the area of any state
III.  Alter the boundaries of any state

IV. Alter the name of any state.

Of these,
(A) T and ]Il are correct (B) II, IIT and IV are correct
(C) I, 1II and IIT are correct \Qﬂ 1, II, III and IV ave correct

arflueemwviy o (Article) 3ar &p @pHu  ungnE@sLEDSADE QeIDMEE DT

QUpBISUILL (HETeTg).

L Q@M g LIFOL HOWES

I gmuorilesde Hlaurieu sifaNss ooz GaDnsEs
L. wrfleofsafer aaamaaemar wrhf S@wés

IV, brfleokseie GuLwamy bIHH &S,

Qeupled,
Ay T wpmd IT eflwmreneney B) II, III wpmw TV sfwureaensu
(©) LI wpoyw I sNwrereneu M) I II I womwo IV efwnerenas

119. Which one of the following power is NOT in the concurrent list?

(A) Marriage angd divorce (B) Newaspapers

& Foreign policy (D) Stamp duties

Epanmataneudmer Qumg LU ipwed HHaTEHo augrs s arg?

(A)  Hmwenrd LHMID aﬂmn&tﬁg@ (B) mrefisp
(C) Qeaveflliymeys Qsmerens (D)  psdrsrer sy
A 35
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120. Find the remainder when 2% is divided by 5
(A) 2 Py 3

© 1 4
2305_3 5 e cu i@ Gung HlooL & B4l eraran?

Ay 2 B) 3
)y 1 D) 4

121. A six digit number s formed by repeacing a three digit number. Example 341341 ete. Any
number of this form is always divisible by

(A) 1100 (B) 1011

\/eC‘) 1001 (D) 1010

P ety Qss sTaaan ML UEsESHD ard @ n Qess aar 2 (Haunssliu(HEms

2 gryandy 341341 ete, @Hs wewwUe 2 (HUTESLUMWL aamse aTLQUTPGID 6ThE 6T eHTeRwT e

UGSELULHID?
(A) 1100 (B) 1011
(C) 1001 (D) 1010
122. The Universal Serial Bus (USB) standard enables upto devices to be
connected to a Personal Computer.
(A) 130 (B) 128
(Cy 150 (D) 127
serfleflufew Fmeilsenet @anewras USB Canlum) 2 gey.
(A) 130 (B)y 128
() 150 Dy 127

123. SVGA supports

(A) 1 million colors ' ] (}/3) 16 million colors

(C) 20 million colors (D) 1 trulion colors

SVGA azn© gavem yildmg?

(A 1 BaQwan aueaTarTRiseT (B) 16 ilevallusen cugister&aT
(C) 20 1866dan aucTeRs RIS (D) 1 HAdelwer cuamerriiser
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124. Match List [ with List Il and select the correct answer using the codes given below the lists,

Tast] List 11
(a) Resignation of Congress Ministries 1. Singapore
(b)  Sir Stafford Cripps 2. 8 August, 1942
() Quit India Resolution 3. Member of L.abour Party
(d)  Azad Hind Fau; 4. 1939

(a) (®) (©) (d)

(A) 4 3 1 2
(B) 2 1 4 3
AN 3 2 1
(D) 4 1 2 3

awleng [Len awflans [Tellevents Quirrss cuflapss@nse & QarBasuul Hener Agn@litgaer sfwumrer
edlen_ullenans Qsifla Qaus.

cufens | aufiens 11
(a) smdlys semwssrae U 6N 1. Amslym
(b) amevrGurr® Hfils 2. 8mev(. 1942

() QevatenenwuCen QeueRGuipy STwmend 3. Qarfins & o mubeanm
d) <ers @,Bg; Limen 4. 1939

(a) (b) (c) (d)

(A) 4 3 1 2
(B) 2 1 4 3
(C) 4 3 2 1
(D) 4 1 2 3
A 37 HLE12
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125. Find out from the folowing pairs of Sangam Tamsl literature, the one which comes under the

category of Ettuthogai.
(A) Narrinal and Naladiyar (B) Silappadikaram and Manimekalai
(C) Kurinchippattu and Mullaippattu \(?)/\Agananuru and Purananuru

&G prlul (erer shs sre sl GesdunsEnd ¢bs @@ Bwser Qenar_ LEd TlpsbsTms

EIDsefe) s _Ri@n?
(A)  Bipdleemriid Hiravlg wimHb (B) HAeuudsmyopw wasliCoseneywd

(€)  EHEaLLICHDL apdeeaim Hid (D)  eimpraumbd YmmraTmyID

126. Which of the following is correctly matched?

I Baridshahi Kingdom — — Ahmédnagar
II.  Imadshahi Kingdom - Berar

111, Nizamshahi Kingdom - Bijapur

IV.  Adilshahi Kingdom - Bidar

(A) 1 PouRt

(©) I ' D) 1V

Spssam_eupmer sflwirs QummssiiuLHereng) e1g?

L, uflgserd Cuyre - BIFF BET

I @ussnd Cugns ~ Sgm

[I.  Bemberd Cupys - epriym

IV,  eigdand Cugrs - Scnr

A 1 ®) 11
(C) TIII D) IV
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127. A railway engine, which is moving towards the platform with a speed of 20 km/hyr, blows a
whistle of frequency 320 Hz. The apparent frequency of sound heard by a stationary person on
the platform will be

(/M greater than 320 Hz (B) equal to 320 Hz

(C) zero (D) less than 320 Hz

@ gule euamy. 20 km/h fleneCeusgder penCuenLeamw Crréd 320 Hz edrQeuear QanammL 2aise

sarflé Qara( eumo Guirsy, CweLwle Hearms Asran® gmeut Gal @ Cerbmn i iTQeud :
(A) 320 Hz O siflswongn (B) 320 Hz 5 s <,@n

©) s fPurEw (D) 320 Hz eY ganmeunso

128. The source of solar energy is

(A) fission (B) radiation
V(Bﬂ fusion (D) conduction

&l 2ynmeden Cammmeums

(A Signsem Gerey B) sdieSss

(C)  signssm Gsrsams (D) sLs55®

129. Consider the following statements :
Assertion (A) : Insulin lowers the blood glucose concentration
Reason (R) . Lowered blood glucose concentration stimulates secreﬁon of glucagon
Now select your answers according to the coding scheme given below : '
\/@‘6‘ Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (4)
(C) (A) 1is true, but (R) is false

(D) (A) 1s false, but (R) is true

A 39 HLE12
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Epasearr g bhpsaner Heuer :

samm (A) D @ansetian @)1 aasHl F1ERT OTHE G DHESEIN T
snyeasid (R) D @enbas @i sEamT D16 G EnsEarane rann anriGoremean arss QaLEny

Samemid GHSE apan sfwren elenamws Cain0sDes -

A (A) wimb (R) @rer(mib M woHmd (R) erenugi (A)es sfiwme ellerd.ai.
(B) (A) wiys (R) @rem®ib &M wpmyid (R) srénug) (A)en o Miirer ofl aré e
Gy (A & ayamer (R) gaum

D)  (A) paum pemna (R) af

130. The best known example of waggle dance was exhibited by Honey bees which was first

observed by

(A) Girolami and Bielert 1987 (B) Dixon 1998

(C) Eugave Marais in 1920 \/{Dj\ Karl Von Frisch in 1940
Caatissen gy eundlen pLend wpseld wryre sdlwiul L g?

A)  Hhewmnd wHmw euGai 1987 (B) «&sen 1998

(C)  wdleu wrpaen 1920 D) s aurar Lifes 1940

131. Fill in the blank :
Racteria differ from viruses in being sensitive to ————————,
~#a) Sugars (B) Proteins
27 Tetracycline (D) Fats and oils
Camgl L Q)L g Hlylings
urgefwr,  eeairsiiey @mrpg CaunusisE STTaTD, UM ————— &G G@Daurer
adrlemus smi(Heuls.

(A)  arssm] (B) ugsw

(C) Quignrawsdeflen . (D)  Qamupli) 1omyibd erairGlarmil

HLE12 40 | A



132. Which of the following pair 1s correctly matched?

Choose the correct answer using code given below.
[. Bharat Nirman : Shelter and basic service needs of poor

II.  Rajv Awas Yojana © Support for shelter, redevelopment and recreation of

housing stock

IJI. Jawaharlal Nehru National

Urban Renewal Mission : Building infrastructure and basic amenities
(A) Tonly (B) Il only
(Cy IIand III only (D) TandIlonly

Spsanc ML Qe Garan() sflwne Geaemeanw Caia) Geuwss.
I wngg Hlaomer ¢ gepsaailer o Ggaau inHm @&l muy

II.  grefeu syeumen Guuirgent Do EwlEmUy wpmid eSlger wmeuertEs DD ILD
LD GBT @O (B SIenemnTiL musl (Mg

1L, meuanierd Crrm Gsdluw Sigtiuen Geensflumsear woon euandfas Coeoauuwiren
B&TLD L& ijenoUiL] G D MY sevlnsailan sLHwreand
@) Lolew BT 1L o (o

(C) Il womw I L GO (D) Tuwomw IT wl Gb

133. An developing economy has the following features.
(A) Low per capita income, chronic unemployment occupational pattern
(B) Population pressure

(C) Only (A)
y (A) + (B)

(W GuUET b au(mid QUMmBETTSTIW LU ETaUHLD GenTE LT s ar QL bmieTeng).
(A)  wonbs sor ez amoran, Gorswra Caamaulaam whmd Qs Guraeg
(B) wssamQsrens Hi(psHLH
C) (A wlpw
D) A+ (B)
41 HLE12
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134. The pH of a soft drink is 3 and that of milk is 7. How many times greater is the concentration
of H,O" in soft drink than in mitk?

(A) 4 times (B) 40 times

(C) 1,000 times DY 10,000 times

am ealfunasdean pH wdiy 3 wigw wrdean pH vy 7 aallée @alfuraisde H,O" el

Qafley urenwalL erdgenen WL k@ HHE0ns G (MEEW?
(A) 4 (B) 40

(C) 1,000 (D) 10,000

135. Nicotine upon oxidation with chromic acid gives
\)?(; Pyridine-3-carboxylic acid (B) Pyridine-2-carboxylic acid
(C) Pyridine-4-carboxylic acid | (D) Pyridine-2, 3-dicarboxylic acid
GGrmie idlewd vwanu®BsH HaCamyem Caiwdans < seilmCarnnio QFweuigte SenLuug:
(A)  Ofesn-3-srrunsleds Dibew B) QAeen-2-sriursfals oibeud

(C)  QOfeen-4-ariumsEdeds odleow (D) Afled-2, I-anLsnrunsfladld e

136. Natural rubber is
(A) Polymer of ethylene (B) Polymer of butadiene
(C) Polymer of acetylene \),B‘) Polymer of 2-methyl butadiene
Bunens FrLT eTeTLS)
(A)  agdeSen crenugen LIy (B) Gyl memiuSan eranugan LUl

(C) @il yeSan eTanmuBen LU, D) 2-QugHa Ayl LrenLuSen eranLigen LIy
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137. What is special about this group?
‘Mahan Maharaj, Samir, Brahmachari, Shiraz, Minwalla’
V(dﬂ Recepient of Shanti Swarup Bhatnagar Award, 2011
(B) Scientists involved in the research if Higgs Boson
(C) Scientists involved in space research

(D) Recepient of Bharat Ratna, 2011
‘wanen wargry, #81, Arwssndl, Fyg, Weneumeor

Bhss @ pedlesr Simu eremesn?

(A) 2011 ®yib e heen Frbl aveuml UL BraT el(hg QeuenneuTsar
(B)  aMaav Curevres g rmusfude mHuC(HéED el e ey reisear

(C)  eSlam@euefl sy griéfldea mhHul (Herar 69@hErreaisen

(D) 2011 gy oy ermighaTan Ly gHeT 60l(mg Qummnaunsar

138. Mr. X wants to establish a broadband wireless net connection for his employers spread over a

radius of 30 kms. The wireless standard he needs to impart to them is

(A) Bluetooth connectivity (B) Infra-red connectivity

/{C) Wimax connectivity (D) Wifi connectivity

30 &8 gl uyiQed GOfBg Ceuena Asiiyb sang LaslluTearis@néi@ Hmeurarnt. X oaaLiul el

Qsrawr sbUs Ggm_mldar uamas CGsTiidmer smwss @Q@qué]g)nﬁ_ Bleum BeuTsEnHasE S1

Ceuamrig s 10196 QT TG eUanFEFTTY ST cTamen? -

(A)  Len@Es Asmmy B) sssflasty Qgrmy
(C)  eou Cusey OmLiy D)  eeulewu QgrLiy
A 43
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139.

140.

Consider the following statements :

In the words of Dr. B.R. Ambedkar, Directive principles of state policy are the “Novel feature”

of the Indian Consiitution because;

I. These principles are in the nature of general dirvecction or guidance to the state.

II.  They embody the principles or objectives and ideals which union and state governments
must bear in mind whale formulating policy and making laws.

Which of the statements given above 1s/are correct?

(A) Tonlv (B) 1lonly

\% Both I and II (D) Neither I nor I

Sipdaer curgSwnisemar seuafl

Dr. Q. oy, iwGugst sabliisneig ‘e Qndls Conl LinBud, @bdul sipsewi e & Hylid

FamrEn” oblemenmime,

L @)e06y BMIyaT QUIBIBTL G UITE SHEHLDIH ) T er &,

II.  wgdu, wrfle Srasa b sLLRSMeTwD, Garamsasamamn Gunomn Gurg. Aol 2 gelwrs
EUBEBLD.

@ainhle ereneu sflwimereneu?

(A Twl@wo (B) U w @

Gy Twnmo v D) T Geame [ Qaema

The constitution 52" Amendment Act of 1985 was enacted for what purpose

Choose your answer from the {ollowing responses.
(A) To enhance the salaries of Supreme Court and High Court judges
(B) Mizoram was elevated to a ‘state’ from union territory

\5,2(\ For outlawing defection

(D) Creation of National Commission for scheduled tribes

1985b gy ey S2eugy ipdlweawliy & 1_s8lmash erahars Camsm () eugliu’ Lg?
sfiwrer eflen_anw Cainbis(Héae|n.

A) s wridlwarpd wpmbd e ssfdlven fHLS sellen sbuear o wieydars

(B)  wyafluwan GgGasons @mng WGsmrmd’ wrflewwrs wrHmuiLn L g

(C) &8 sreud genr e

(D)  ulgwaled o drer Erwmleanmasret CoEL BmaRTWID N DEHS
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141

Item : Food Clothing Tducation House rent Others

Expenditure : 300 75 40 75 110
When we represent the data on percentage diagram, the percentage of expenditure on

clothing 1s
(A) 18.33% (B) 6.66%

() 12.5% (D)  50%

a(r_r;l;!qu_: D GUT6 D_ehr. |_1Lq_|_]u QML EHGE  FERSTUIQIDENM

Lgwey : 300 75 40 75 110

Qar@sslul_(Rerer eflcurmimnenet eNpssTH Ll aNETESIULID (PO GUIGEIMWDEEHTER, 2 L 516
Qeeva epaan () pa1g)
(A) 18.33% (B) 6.66%

\}}r 12.5% D) 50%

142.

143.

If BHASHA is coded as 154754, BRAIN is coded as 13408, AHINSA will be coded as
(A) 458074 (B) 405847
(C) 450847 (D) 450874

BHASHA aasiugy 154754 ety BRAIN erauigy 13408 eranmyid @issuncra AHINSA arenug
ereueunm GM&ESILHN?

(A) 458074 (B) 405847

(C) 450847 _ \),DS‘ 450874

The sum of odd numbers from 1 to 31 is

(A) 496 B 256

(C) 240 (D) 288

1-68(mbgy 31 euenny o_aem neEnDLILEL eTam&ailen gnl HHEC G TanHS &TaRT |

(A) 496 (B) 256
(C) 240 (D) 288
45 HLE12
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144, The Ministry headed by Rajaj in 1937 consisted of the following ministers (Identify the
correct one).

(A) T. Prakasam, V.V. Giri, A.T. Pannirselvam, T.S.S. Rajan

(B) V.V.Giri, T. Prakasam, T.T. Krishnamachari, T.S.S. Rajan

(C) T.T. Krishnamachari, T. Prakasam, A.T. Pannirselvam, S. Ramanathan
MT. Prakasam, V.V. Giri, T.S.S. Rajan, S. Ramanathan

19376 Grrayredl sepasnouGicvne SienwEsranaiutldy e HLIGUTEET LIeoEFTHaTTS (Hbse (#ilwimen

QENEND BHiepL_LiraTDd Css).

(A) . 9psren, 6.6l A, 6.4 LatalT@FoID, 1. 6ro.6rev. G TTmen

(B) eflel. &R, q. G7aTEd, w.tq. SmayanTwrssnil, g.erav.6Ten. @ rrmen

() wgq. Hmegamwnsgad], . Grsrsw, o 14 varaiTQsaaD, 6T, @TTLBIS

(D) g QGrarsb, &9.65. 4. g erev.aTen. @rmes, eTav. @FTOKH TS '

145. The congress passed the ‘Quit India’ Resolution on 8 August, 1942 for the following reasons :
. L Failure of the Cripps Mission

1I.  Japanese {orces moved towards India

[1I. Sympathy with Japan

IV.  To compel the British to accept the demand of Indians for independence

V. To support the Soviet Union.

\/(A) 1, 1I, and IV are correct (B) 1,11, IIT and IV are correct

(Cy I, 11,11l and V are correct (D) I, 11 IV and V are correct

Bemeumb srqammsErssns 19420 yam®) waavp 8L prear sruds ‘QeudamanuGen GeualiGugy’
Srorengens Guoflug)

I ANian g1g6 & elen Coraeiuflanme

L @pdluree Crrad muumaflul v sear ynuul L ganme

UL guumafi b 1l gw @igsmgdennd

V. gudCawursa Qrduirsaiar ell(Hsme Carfamaanu anms Qarersr sl L ruluB&sieusnsTs
V. Cereflwsg wyahuemen oygMuusnans

@A) L1, whmw [Vis &0 By L I, I wonod Vo &f

© I, 1L I wihmyk Vo & D) LIIL IV uppw Vi gf
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146. Match List I with List 1I and select the correct answer using the codes given below the lists.

List1 List 17
(a) Gulbadan Begum 1. Padsha Namah
(b) Inayat Xhan 2. Akbar Namah
(¢) Abdul Hamid Lahori 3. Humayun Namah
(d) Abul Fazl 4. Shahajahan Namah
(a) (b) (c) (d)
(A) 4 3 2 1
(B) 3 4 1 2
et e 3 4 1
D) 3 1 4 2 |

auflens Iy e eauflans [lefavars Gunmsd eauflanss@nde & Qar@ssin Herar QgmEUu9amng
sflwren efen_wlenans Qgfey Qaws.

aufflens | auflens 1l

(a) EeougrarGusd 1. urdaegr mrwr

[~

b)) Qenwssten SISLIT BILon
©)  siugo anlbg) Cors 3. bl LML @S BT

d)  Siye uTsd 4. ognmsTe [T

(2) (b) (©) (d)

(A) 4 3 2 1
B) 3 4 1 2
(©) 2 3 4 1
(D) 3 1 4 2
A 47 HLE12
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147. Which of the following is correct regarding steel?

(A) Tron with > 0.5% carbon (B) Iron with < 0.25% carbon
(Cy Iron with 0.25 = 2% carbon (D) Iron with 2 — 4.5% carbon
Epsanaond mpmsete ordlameans Qurmssint g6 g sflwnen sbm?

A) & wan> 0.5% amiruen B) @rouier < 0.25% sniuey

(©), \ v 0.25 - 2% anfiuan (D) @b an 2—4.5% snmuen

~

148. Wimbledon 2012 men's Champion Roger Federer belongs to which country?
(A) United States of America (B) Spain
(C) Swiatzerland (D) Germany
2012-& gear(sEnssres ofidearer Camlenueamw Geuanm Grrg T QuLgr arbg sm e Ganbseuiy
(A @Quhlssr (B)  av@uulan

\}Z\) aveil_siaub gy (D) Qgrwerf)

149. Match the list of provisions and articles which can be amended under Art. 368 and select the

correct answer using the code given below the lists :

Provisions Article
(a) Election of President 1. Art. 54 and 55
(b) High Court for Union territories 2. Art. 241

(¢) Executive powers of union and states 3. Art. 73 and 162

(d) Distribution of legislative powers

between union and states 4. Art. 245 to 255

(a) (b) (c) (d)

A 1 2 3 4
(B) 2 3 4 1
(C) 4 3 0 1
D) 2 1 4 3
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Sinflwe oy NF I68ea S Qaran(® eursss GOfeyser wHMD HTSwe Seowii efdamar

ghluns Quimssayd. WAng &0y Qar(ssiivl.fearar @HuSHamer Gaman® sflwnes eflenenuws

Carpds (.
Qe SIHAW® Sl 694
()  BYwres smaeur Csima) 1. Art. 54 wpmb 55
)  wellwer ACsensense e witdoamd 2. Art. 241
(c)  wsHu LOYWD BBl BTEEFETHE,
flireuns Sl arymn 3. Art. 73 wpmyn 162
(d)  wsdu vomw wrEle BiyssanaLula e
slLggiann wfary udiey 4. Art 245-6 @mBE 255 eueny
(a) (b) (©) (d)
(A) 1 2 3 4
(B) 2 3 4 1
©) 4 3 2 1
(D) 2 1 4 3

150. The smallest difference in radiance detected by the satellite sensor is called

%

(B)
(©)

D)

.

Spectral resolution
Spatial resolution
Radiometric resolution

Temporal resolution

W& grevellw Qeutiugeans s Blyn tswupamssCama Spasam messeic aransey?

(A)
(B)
(€)

(D)

Blowrena g liuanuGle Srorei g6
MamQarafl i hueLula Sronallsse
aurQannaed LUy SsigliueLwila Sioragga
Crr siglinaL19a §oreafllgsea
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151.

Consider the following statcments :

Assertion (A) : 41 percentof the moon surface is never seen [rom the earth.

Reason (R) - The moon rotates and revolves in the same direction as does the earth.
(A) Both(A) and kR) are individually true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are individually true but (R) 1s not a correct explanation of (A)

€y (4) 1s true but (R) 1s false

(D) (A) js false but (R) is true

Epssnanib eunswkisener seuet :
samm (A) o Blasellan 41 ggalis L Lefllfa eniCurgCo yalu@eaubledama.
amread (R) o Ber yeluian HCg flenaulCmCu sHfl& spdvdema.

(A)  (A) whnw (R) QuearhiGuw &f, Cogub (R) aranuig) (A)ellng sMuirer eflarasn.

\}Bﬁ (A) wnmyw (R) @oaw®n adl, Cweayid (R) aenug (A)elh@E sNwnar eflargswda.

(C)  (A) sf) syamnew (R) poumy

(D)  (A) seuiny enmed (R) af

. Fujita scale refers to

(A) the scale to assess the severily of flood
(B) the scale Lo assess the carthquake severity
(C) the scale to assess the relative severity and damage of tornado

(D) the scale to assess the cyclonic severity

N sNGET crenm el eTenshd (KiMsHng ?
Lkl 1Y 2 5 (5! D&l
() Qeuarargdlen alilysens wHLEAL 2 goyb sarey

(B) HophsssdHar Falrsoms 0HUAL o Fa|bd siaTey

\/4657 sy snnbler Felrsams o niaigb eigard ghuHo sifiaeud whHuGHse

D) yweles Ealnsems wHUEGL 2 56 b eTey

HLE12 50



153.

154.

Consider the following statements :

The aim of proportional representation is

L To eradicate the defects in the ordinary system of election.

II.  To ensure the representation of all the people 1n the legislatuve.

ITI. To enable minority representation

IV.  To ensure the representation of every minority group as well as majority in proportion to

their electoral strength.
Select your answers using the coding scheme given below
I and IT only (B) I, 1I and IIl only
(C) I, IIT and IV only (D) I, IL II and IV
Epsaan eursdiuramen seuct :
sfledldls AydBldlsgen Comsa wpevmulier Crnasb,
[.  engrgeant Carsed (penpulen @ennacner Ba@eug)
II.  seeasg wasefen Ardbdlssasas s sl Blaapr [Heig
III.  SmurereswCuirfer Yy bdsgeun gnuBss
IV, fimurereninCuimmib, QusbimemenGuimmb &b craenil&ens&GanHn
CaibgenUULLLSH68 alasudiane (penn
EpaarL @HluSHsmer uweu®Bsd) sflwrer eflenLepw eT(Wgy.
(A) Twpogd IT o Gib B) L II womn I vl Go
(C) II, IIT womb IV bl Hibd (D) LII Il npgyw IV

Match List I with List I1.

List | List IT
(a) Shiksha 1. Metrics
(b) Kalpa 2. Grammar
(¢) Vyakarna 3. Phonetics
(d) Nidhi 4.  Astronomy
(¢) Chandas 5. Rituals
() Jyotisha 6. Chronology

Select the answer from the codes given below :

(a) (b) © (d) (e) ®

(A) 1 3 2 5 4 6

(B) 2 1 3 6 5 4

© . 5 3 2 1 6 4

NOE 5 2 6 1 4
51
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ulqued T et et iquied gt Qummegs.

UL aguaed T vl II
(8) Sléagr 1. wrodwé
(b) s 2. @ossenTs
(¢) eSwranesry 3. eadlluidwe
(d) KB 4. cumestlwisy
(e) semLmen 5. FLIAE (PEnMEET
(H  Cgrzfagr 6.  snoé saflly upenm
GO Hsaned(mbg eflune eSlepreow CorbLeB&seab :

(a) (b) (c) (d) (e) ®

(A) 1 3 2 5 4 6
(B) 2 1 3 6 5 4
(©) 5 3 ) 1 6 4
(D) 3 5 2 6 1 4

155. Which among the following Thirthankaras completed the concept of “Panchama Dharma” by
adding “Brahmacharya"” as the fifth doctrine?

(A) Rishaba (B) Arishtanemi
(C) Parsva \/CB(’Mahavira

£Cy Qar®ssuul L Srssmarisaie, eeum “Grbweruwn” erenn smsms Csisg UEHFL STLWL

Gari_umlien lebﬁ{&,{tﬂ Qeligmi?
(A)  Aagur (B) <@iflagwlrl

(Cy urigeur (D)  waemreigh

156. Which is wrongly matched?

{A)  Zinc - Enzymes (B) Iron — Hemoglobin

\ €, Magnesium — Dry cell (D) Bervllium — X-ray tubes
geupnet QUImESEMEE &665 (1N E&D.
(A)  BBBHTED — GTEIEHEVLD B) @by - afCorECermen
(C) waaialwn - o o Beasow D) QuAeewb - X-sHT @
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157. Match the following :

(a) Article 74 1. Council of Ministers
(b) Article 356 2. Amendment Procedure
(¢) Article 370 3.  Jammu and Kashmir
(d) Article 368 4, Emergency

(a) (b) (©) (d)

(B) 2 1 4 3

(©) 3 2 1 4

D) 4 1 3 2

Qummsgs :

(a) @4 74 1. sajanélé U whHhaar

(b) &l 356 2. wrfueemvly B wpennEeT
© 98 370 ' 3. mibap DL sTEST

(d) 94 368 4. Opmssyg Hepa ey

(a) (b) (©) (d)

(A) 1 4 3 2
(B) 2 1 4 3
(®) 3 2 1 4
(D) 4 1 3 2
A 53 HLE12
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158. Which position was held by all the following personalities?
1 Krishan Kant

2. Gopal Swarup Pathak

3. Bairon Singh Shekhawat

Choose the correct answer

(A) Deputy Prime Minister (B) Chairman of UPSC
(", Chatrman of Rajva Sabha (D) Chief Justice of India

o
SpseitL. Slemaneu(H aTh Ugellanw audl55nTaer?
1. Smegenr samm
2. Canume ausuml Liss
3. eouGynan Him Coaganeins
shwiran eflenLenwt Can b5 H &6 L.
(A)  glaew Qrgor
B)  wsdw vaflwrent Cgrey Gpevarmuib Fenavenw st
(C) wrhekseraauudss sepeeurt

(D) o s gHwanm genaew HHLH

159. Which one of the following statement 1s correct?
(A) A person can enroll as a voter in more than one constituency
(B) A person can enroll as a voter in more than one part of constituency
(Cy Only fine 1s imposed for giving false particulars in voter’s registration

\}Dj Both fine and imprisonment can be imposed for giving false particulars in voter's
registration

Bipeu(heuaeud myeT 6rba &amhm siflirens?

(A)  gupun am BargdaE Cod andsrarrra Udle] @sdiwmd

(B) e sumem Agredulla o ugdlsala eungsramrs Ldey Qe

(C)  aunsarenyns udeSen Curgy seunren AUy QaTHESMD SHLGTH GETEGW SERTLenenun@h

(D)  argsneryns udeiien Curg seupran eNugbd CETHSHIO HUFTH GHTOSLD, @F e S

serLemenuyb el sslHb
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160.

161.

162.

What is the value of X in Fig. II?

25 64 9
16 22 36 9 16 1 4 15 1
49 X 81
I 11 11
A) 4 (B) 16
(C) 32 D) 2
b IT-éb o erem X-@em ol
25 64 9
16 22 36 5 16 1 4 15 1
49 X 81
I II HI
A 4 AD 16
(Cy 32 (D) 2

For a set of 500 observations variance is found to be 125. If 25 1s added to each observation
and 55 is subtracted then the new variance 18

(A) 95 (B) 150

(C) 180 (D) 125

i sawsder 500 semLhps Semellar wrmur® 125 oEw. 25-0 sy Geaam 55-5 geuboun(m
SerellM@w EWISSTD, Waremt yduws wryum rerg
(Ay 95 (B) 150

(C)y 180 ‘}Dj‘ 125

Two students A and B scored the same average marks in 10 tests and the standard deviation
of marks are 2.5 and 3 respectively for A and B. If the consistency of performance 1s the
criterion for awarding prize, then
(A) B should get the prize

A should get the prize
(C) Both A and B should share the prize equally
(D) Prize winner cannot be decided. Since average mark is not given

@uearr(H wremeurser A womo B syrsfiurs 10 Garedld @Gy wduQuer Qupmy @mbsant. A whmibd
B-Wen Sl elavgsworeang 2.5 womb 3 wpenbu. eursafler Blaouys saew Qurmsesg uila
alprIsLLI(HGeUZ areafle

(A B ufs Qun Geuss (b

B) A ufleQun Ceauasr®w

(C)  Awnyw B uflens swwrs 9flgg Qararar GeuaTHd

(D) sgnef wALQuas AsThissLuLnssrd ufles Qupueiay Wyey Qe @uiawrg

55 HLE12
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163. Match List I with List II and select the correct answer using the codes given below the lists.

(a)
(b)
(©)
(d)

S

©

(D)

Last I

New India

The People’s Friend

Bante Mataram

Rast Goftar

(a)
2

3

(®

4

(c)

o

(d)

List II

Lala Lajpat Rai
Bipin Chandra Pal
Dadabhai Naoxon

A.O. Hume

ulgwe Jorer ulywe Ilgh Qurmsd, ulgwdsErs@s &6y o aer QAgnEUANmbs sflwmen

Narulenang Qsfa) Qswlis.
UL ig e T
(a) Ay QBdwr
(b) & Sciyeren SadlgesTe
©)  aupCs wismb
(d) gravc Canlanm
(a) (b) (©
(A) 2 4 1
(B) 3 1 4
(C) 4 3 2
(D) 2 1 3
HLE12

(d)

S

56

U igwie I1

QUMELIT QLIS (FITILs
GiGen s68\7 Umed
sngmunis GperGrmed)

7. bl



164. Under the leadership of Khan Abdul Ghaffar I{(han, popularly known as ‘The Frontier Gandh?’
the Pathans organised the society of Khudai Khidmutgar (or servants of god), known
popularly as

(A) White shirts (B) Red army

(C) Red shirts (D) White army

‘sravene &THE eren LEDPAUDHD sTaT BLGID sUTT Sren goweewlid ugnafluiser ‘Gal Hgobsseren’

(sLeyeflar  Goeustset) eangubd shisseanss Gsm_mdlen. g S@ereuqraynd  arararCeuesm

SMwaulLg?
(A) Qeuéreners 5L ser (B) &suyu ueni
‘}Q’f‘ HasLE sCenL &6 (D) GQeyeraneml ueni

165. Match List I with List IT and select the correct answer using the codes given below the lists.

List I List 11

Poets Works
(a) Kalidasa 1.  Ashtanga Sangrata
(b) Vishnu Sarma 2. Surya Siddhanta
(¢) Aryabhatta 3. Panchatantra
(d) Vaghbhatta 4, Sakuntalam
Codes

(a) (b) (c) (d)

Ky 4 3 2 1
®) 3 4 1 2
(©) 1 2 3 4
(D) 2 1 4 3
A : 57 HLE12
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pe® ulipenaud, @rarireg ulgueeaud @udl(. Spssar. Q@ fer genem Guin(),
gflwmen efevenw pefEsab.

Liig sy T L lgueed [
Heveuraen LB &mI& 6T
(a) sreflgrant 1. SR LAY, -2 AT A1, 1)

o

(b)  elleman &iom &M EFsrhaid
LgsampBITD

EMGHEDID

w

(c LWL LT

Mo

(d) emsmnh
S CEy
(a) (b) (©) (d)

(A) 4 3 9 1
(B) 3 4 1 2
(©) 1 2 3 4
D) 2 ) 4 3

166. In which Edict did Ashoka declare his faith in Buddha, Dharma and Sanga?

(A) Maski Minor Rock Fdict (B) Rumminedi Minor Pillar Edict

(C) Sarnath Pillar Edict \Q’/ Bhabra Minor Rock Edict

arsLbeILLQIETET SipFs parde UgsT, sMom, shsn @eupdles une) HnGITET semayeniu
rHUr_amL sibledsgerarmi?

(A)  wrevduGan Ay Genm seGeul () B)  EbLACBEL e Ay gram sobeul ()

(C) sriprsHen gram sHGELH (D)  urdpn oy @eny soQeul®

167. Why Lord Canning was called as Clemency Canning?
(A) He loved Indians and gave them high posts
\}B), He issued general pardon to the mutineers
(C) He reduced land tax
(D) He was appointed as the First Viceroy under British Crown

srafi Sy “spenaru|arar srafin” eremy iapdsinl L g gen?

A) @rdwnseflen Bg Bgns anGun® 2 wrugelsamer eupruduigre

B)  Auunl sessHéd mHuLL mematemé@n Qung waraflliy euphidugne
C) Ao ewflews jeulr GamnSESTED

D) ONligey sipsthssden psao aeudlgruns el HLBEEOULL ST

HLE12 58 A



168.

169.

In the digestion of carbohydrates, the following sugars are converted to their simpler forms
I. Starch — Maltose + Isomaltose

II.  Maltose — Glucose

I1I. Lactose —» Maltose

IV.  Sucrose — Glucose + Fructose

Which one 1s/are correct?

(A) Talone (B) II andIIl

(C) T NlandIV \/CD’)O [, 1l and IV
aniGurenanl Crl. Qeflwrengder, Ewpsananbd srasemrl QUIBLEET SxeupMer aallu augeuksaTs
wrhplu@Eermen

I soimié — wrér CLmey + mCemorl GLray

1 orél GLney — @epsGana

I, ers G — wrel Gume

IV. &5Cpmev — @ensCanay + Gral Comen

ergy/ areneu &2

(A) Tw_(@w (B) Il wpmw III
(C) 1N, I wpms TV D) L1 oomd IV

Match List I with List IT and select your answer using the codes given below :
List I List II
(2) Smallest flower 1. Dischidia rafflesia
(b) Biggest flower 2. Canna
(¢) Irregular flower 3.  Phyllanthus
(d) Monochlamydous flower 4, Wolfia
Codes :
(a) (b) (c) (d
(A) 2 1 3 4
(B) 1 2 3 4
(©) 3 4 1 2
R 1 2 3
59 HLE12

[Turn over



vlgwd 1o ulgwd 1T oe durmss, &G QenBsstin Qe @hldBsomas Qsran® eflumer

e ‘
oo eowd Canhbla®

udigue [ un gy 1]
(a) yefe Bsebd fAflws 1. g.avdlig uiT griilafledhum
(b) S faeynd Qumwsy 2. SEBITEHLP
(¢)  ewafymm 3. GoCaerigan
(@) el cwll L b ol (b ngireT 1, 4. 2 anlwm
G Haen

@ ®  ©

(A) 2 1 3 4
(B) 1 2 3 4
© 3 4 1 2
(D) 4 1 2 3

170. A 1s the assertion and R 1s the reason. Examine these two statements carefidly and select the
answer using the code given below :

A
R:

\/%3

(B
©)

(D)

We are able to hear the sound behind the walls or obstacles

When the wavelength of a wave is comparable or less than that of an obstacle, diffraction

happens.

Both A and R are individually true and R is the correct explanation of A
Both A and R are individually true but R is not the correct explanation of A
A 1s true; but R s false

A is false; but R 1s true

A aangy s&pn. R eeug empern. Geateumn Qram® eursdumigamet Lping, Gensriul e

GAuysssmer LiaTURSE edlenwealsse .

A.

R.

(A)
(B)
(&
D)

HLE12

F6U LLOMILD FenL_aEHdGE L Darent @ mbg eumb alanws b CalACnmb

@ Amauiear oemeBernd B uTamguid e FamLser womd Qurml selar ereln@s

gwwraGeun, geanaunaGeun @) mhsra. elleflvy euamareay rmu®io.

Awpmidb R aunsdluiaser safigaaflCu afl. R erenug) Aserear sfiwnen snjeamsiod

A vpmyd R eunsfluiiser safllsanGu o araw. e R aanug Adsmen &yt b < e
A sf), R sflwee

R #f, epaned A sflwevey

60 A



171. Consider the given Fig. of ocean currents around North America. Match List I with List II and
select the correct using the code given below lists.

(a)
(b)
(©)
()

(A)
®B)
(©)

7

List I

Current Number

I

11

I

v
(a) (b)
3 4
2 1
4 2
1 3

(©

PN CE RN VO oV

(d)

NCJIRSERN Ny

North

N

Ajnervica

List I

Current Name
Alaska

Gulf stream
California
Labrador

QsrHssLulHerar eu.nQollgsrameus soduarar sL BCITLL s LLdog smasH Qarars.
auflens [ auflens 11 Qummasl, sftwirer @BHuI@® o_erar Lflevas CorHOs6HEs.

(a)
(b)
(©

&)
(B)
(©
D)

cufitens |

BCyml L eram

1

1I

111

v

(a) (b)

3 4
2 1
4 2
1 3

o

S Co

™

(d)

DD = B

2uN&ss

1.
2.
3.
4.

61

>m

/‘I
v

euiflens 11
ECym L gden Quuwr
SITEVEIT

Sd.L G
sNGurTawim

QUIIITLITIT

HLE12
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172, Match the following Neolithic centres of paintings with their districts.

(a) The Son Valley 1. Raigarh

(b) Manikpur ' 2. Mirzapur

(¢) Singanpur 3. Central Province
(d) Hoshangabad 4. Uttar Pradesh

Select the answer from the codes given below :

(2) (b) (c) (d)

\/4{ ) 4 1 3

(B) 1 2 3 4
(C) 3 4 1 2
(D) 4 3 2 1

LGISDSTE @65 @ IIRISERET DIGat WTeIL L RIsEHLET QLM(mEHS)5.

(a) Csmen LiGTeTEE TS 1. god&rd

(b) wremfigym 2. drevmyr

() Armsgmanym 3. wsHu wrsremid
(d) Capregmsrung 4. o5dr QpGgsn

GEHUGsaflemHg swren e Garb0sHasea b :

(a) (b) () (d)

(A) 2 4 1 3
®) 1 2 3 4
©) 3 4 1 2
(D) 4 3 2 1

HLE12 62



173. The title 'Sardar’ was given to Vallabhbhai Patel during the
(A) B} Bardoli Satyagraha
(D)

Salt Satyagraha

(C) Civil Disobedience Movement Cabinet Mission arrival

‘ignn’ erayid Ul b euawenml LCCLays@ @bblansdluian Cungl seflssuul gy

(A)

()

174.
A)

(€

o Uy #5Hwndlysn

FLL bnuy Quissd

Mathurakavi Alwar

Poikaialwar

(B)

D)

®)
(D)

unCagredl ss5wndlysid

smien sienwasn G eumansudlar Cumg)

Who had sing songs on Nammalwar as God instead of Thirumal?

Thontaratippodt Alwar

Thiruppanazhwar

Hmneneods UrLTwe pismpeuragGu QBLIaIDMEL s LIMguIedT wir?

\/Q&) wgIrsewrperT (B) @g,rrstﬁl_rytcru@urrqu_ungmrrfr
(€)  Qumb@swmpeur (D)  AEiunampauni
175. Match the following :
Quotations Authors
(a) Mathar thammai Izhivu ceyyum 1. Kavimani Thecika Vinayakam Pillai
Matamaiyal Koluthuvom
(b) Kalviyillatha penkal Kalarnilam 2. Bharathiar
(¢) Mankaiyarai Pirappatharku — Nalla 3. Namakkal Kavinjar
Mathavam Ceithita Vendum
(d) Tamilar enru Sollata — 4. Bharathidhasan
Thalai nimirnthu Nillata
(a) (b) (c) (d)
(A) 4 1 3 2
(B) 1 3 2 4
0 2 4 1 3
D) 3 2 4 1
A 63 HLE12
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Spsaramid Qom_tamat oeupiler o SAuraGerm® Qummdgs

(a)

(b)
()

(d)

(A)
B)
(©
D)

Qgrrser

WGT Hoow Qife) Glelujd beamwenusd 1.
QamrepsgGourd

soefuildveons Quems sear sarm Fleld

wiiemsw g nlugsnGa — maw
wrgeud Qaudh_ Cevawr(Hib

S18Lpein erasty QerdveLn, s ALATHS
Hleveurm

(a) (b) (c) (d)
4 1 3 2
1 3 2 4
2 4 1 3
3 2 4 1

176. Match List I with List I

(a)
(b)
©
(d)

(A)
(B)

L uwied Iamanm uliguwied [T 21 6 Qummsss.

(a)
(b)
(c)
(d)

(A)
®B)
(©)
(D)

HLE12

List I

Thermal power projects
Dhurvan

Korba

Obra

Talcher

@ O (@ (@

W & D W
Lo VR VE I W]
(NI N RSN

ulgwe |

emes Wen G L mseir

Bi(mouen

Qamrum

eLIgm

NOFEN
(a) (b) (© (d)
1 3 2 4
1 2 3 4
1 4 3 2
1 3 4 2

4.

[Y=O G I N S

64

~ W

&6 ghiTaeT

scfiwerfl Ggfls elpnushn Derenen

urggwury

BILDESHED G605 GHT

uryhgrFen

List II

States

Gujarat

Orissa

Uttar Pradesh
Madhya Pradesh

Ul gwes I1
wrhlem ser
BRI

eflgn

2 &7 ArCaa
g 9rCsan



177. Match the following :

(2)

(b)
(c)

(d)

®)
(©
D)

Wermeumeusneumenn GQLIMMEE)SE |

(a)

(b)
(©)

(d)

(A)
(B)
(©)
D)

Writs

Habeas Corpus

Prohibition

Certriorari

Quo-warranto

() (b)
3 1
1 2
2 3
3 4

BHUGUnTan st

o

<24, 10 & T 6Bt T 2,60 awr

B DT

GApdlapern 2 posea
558 pemaila
(a) (b)
3 1
1 o
2 3
3 4

(c)

[R]

(d)

o

65

Feature

not available against administrative

authorities
cannot be applied against ministerial office

may be applied by a stranger or a social

worker who need not be an affected person

not available against legislative bodies and

private individuals

SILDFLD
Areuns flsrilsensg adims GrCundés
@uwieorg)

DOWEENHERGE erhrns GrCurdss @uweng

WL, LFHULE&EGETETTETS CTHS Fps
S Teuav(mLd Camremd
FLLWDED HWULEKET wHND SaNEUTESERES

adlyrs ArCGurdas @weang

HLE12
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178. Match the following 1s correct answer.

(a) Manikodi 1. G. Subramanpi Ivvar
fb)  Eluthu 2. Thiru. V1. Ka.
(¢)  Sudesamitiran 3. P.S Ramaiha
(d) Nava Sakthi 4.  C.Su. Cellappa.
Codes :
(a) (b) (© (d)
(A) 1 2 3 4
By 4 1 o 3
(©) 2 3 4 1
(D) 3 4 1 2
vlywe Ip ulgwe I o6 Qur@psd. SCp CerBssuuc(erer @HlUHsemars Qaran® shurer
eflav_mwg Campbs®
bl iged | Ll qwa 1
(a) wallsQemny 1. o). &L weslu gui
() awss 2. dmei.s.
(©) &Css05dren 3. Qerev. prepwwT
(d) meussd 4. & &. Qrdeolur
CCETI
() (b) () (d)

(A) 1 2 3 4
®B) 4 1 2 3
(®) 2 3 4 1

s 4 1 2

179. Find the odd man out:

(A) Thiruthonda Thokai (B) Thiruthondar Thiruvanthathi
(C) Thiruthondar Puranam (D) Thiruvilaiyatal Puranam

Sipsanamuaelboe QUIBSSLND5E @DLIAHS.
(A)  HmsQgram_shsrems (B)  HmsLsreawi Hmeupsrs
(C)  HmaQgmanr_i ygreamd W@@aﬂmm’mm;@qr}n@mm

HLE12 66 A



180. Match List [ with List II and select the correct answer using the codes given below the lists.

List ] List IT
(a) Direct Action Day 1. 20 February, 1947
(b) Interim Government 2 3 June, 1947
(¢) Mountbatten Plan 3. 16 August, 1946
(d) Attlee’s statement 4. 2 September. 1946

@ b © @

(A) 3 4 2 1
(B) 3 1 2 4
\éﬂ)’ 3 4 1 2
(D) 4 3 2 1

auflens o i an culans Tlelamers Quipsd cullassensE S Qarhssuul Bae QsmEuempbg
sflwney eSen_WGenand Gsfley Qaws.

aufeng | auflens 11
(&) Crlleo s Qeuieprer 1. 20 Qugeur, 1947
(b) QL ssTe TS 2. 3 g6, 1947
(¢) Queremn Cunliam A b 3. 16 gypsav(®. 1946
(d) e aulesr Sifleduy 4.  2Q@sULurm 1946

(a) (b) (© (d)

(A) 3 4 2 1
(B) 3 1 2 4
© 3 4 1 2
@) 4 3 ) 1
A 67 HLE12
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181. Which one of the following fundamental vights is applhcable only to citizens and not to
foreigners?

(A) Equality before law
(B) Right to elementary education
(C) Freedom to manage religious affairs
\}D& Right of minorities to establish and admainister educational institutions
QWeU@GuaU_Tmrrbgmr G4 10E5ERsE St ss Gupd aTe Qesaliprl_aumsE faLbssl Quprs
o flenwo 61g?
(A)  #LL&EEHDE (per FDD
(B) yrou samalssrar 2 Mano
(C)  sww Alspeysmaer Cuamesd &gHE 7o

(D) seoed Fyeuassamer Himed HieufléEn Hmuramwudamssie o Mamw

182. Which of the following provisions came into force even before the commencement of the

Constitution of Incia?

(A) Fundamental Rights

B Citizenship
(C) Directive Principles of State Policy

(D) Amendments to the Constitution

Aeraumb Sbsmsai® @rHu srfiaeabliy Ba (papnsE, eumeausne apandmpGs Qewumuri iy nE
UHSS T51?

(A)  sigluent 2 Mepinasar

B) Eyufemw

(C)  <iys Qaraiesuiar andar () GpdaeT

D)  @irdwuaawvly Smssrae

HLE12 68 A



183. Match the following List I and List I and select the correct answer.

(a)
(b)
(e)
(d)

List T

Cyano bacteria 1.
Ammonifying bacteria 2.
Photosynthetic bacteria 3.
Denitrifying bactenia 4,

Fiod the choice of correct combination.

(4)
(B)
(©

L

(a)
1
1
4

4

(b)

(\]

(c) (d)
4 3
3 1
2 1
1 2

_ List I1

Rhodospirillum
Thiobacillus
Bacillus

Nostoc

EpsaamL Ll gwd [g ulywed I 2 Lar Qurméd. sflures alen g Corils(.

g wen |
(2) enawGerr LmdieMur 1.
(b)  suCGureflwreurs@n LrgeNwr 2.
(©) galsCsisens ungwdwn 3.
(d) eELrmenar Gans@Gn ursefum 4.
aflursl) Qurmssiul L amss CsMmosHasaw.
(a) (b) (©) (d)

(A) 1 2 4 3
(B) 1 2 3 4
(®) 4 3 2 1
(D) 4 3 1 2

A 69

Ul g uwed 11

GarGL_revepuflaesd

asCwr Gudaay

unfeveveny

BIeuL 18

HLE12
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184

185.

. Consider the following pairs :
I Willy-Willies —  Australia
II. Typhoons ~  China
ITT. Hurricane -  Japan

Which of the pair given above is/are correct?

(A) Tonly K)yﬁj [and 11

(C) II and I1I (D)

Werau(mio @enamamer s(hold Qanens
[.  eleed-adweliavr ~  pevdCradiwm
Il ecyensan - Sar
. enfiGsen - suunen
- GunEHlull L @eaansaia gl af?
Aa) TwlEo (B)

© 1l opmyo 111 (D)

Match the Geological Era with their periods.

(a) Precambrian 1.
(b) Cenozoic 2.
(¢) Mesozoic 3.
(d) Palaeozoic 4.

(a) (b) (c) (d)

2 4 1 3

(B) 3 2 4 1
(C) 4 1 3 2
(D) 1 3 2 4

HLE12 70

II only

I womw 1T

Il vl @o

Jurassic
Archaen
Silurian

Eocene



HeS e wsrisamet geangen srensGart( Gunmsg)s.

(a) CsavlflweyéeE wearstww 1. gogndls

(b)  QsCamGsmis uisb 2. eyiGsuer

(c) BCenGsmuds wsbd 3. Agrflwen

(d) Gsroguitysn 4 QCGunHen
(a) (b) (©) (d)

(A) 2 4 1 3

B . 3 2 4 1

(®) 4 1 3 2

(D) 1 3 2 4

186. Match the following :

(a) Doctor wind 1. Switzerland

(b) Cherry blossom 2. Sahara of Africa

(c¢) Blood rain 3. South Italy

(d) Foehn 4. Karnataka (India)
(a) (b) (© (d)

(A) 1 3 2 4

B 2 1 3 1

(C) 3 2 4 1

(D) 4 1 3 2

Epsam_cupenp Flwirs QunmSES

" () LrsLTsThm | 1. selllsteonbg

(b) Q&M uresnd 2. serm (HULGA&sn)

©  Qussweaw 3. GspE @ssmad

(d) wmen 4.  srprLsT (@bHwm)
(a) (b) (c) (d)

(A) 1 3 2 4

B) 2 4 3 1

(C) 3 2 4 1

(D) 4 1 3 2

A 71 HLE12
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187. Arrange the following divisions of the Vijayanagar Empire in descending order.

L. Rajyams
II. Kurrams

I11. Valanadus

IV. Nadus
Ay 1 IIL 1V, 11 B) LI IV, 1T
© II UL IV, I | O) 1 1L 11, 1V

Aeneupd elmwipsri Gugrflen Gilla saner @mrie suflensuSiey ar(pgy.
1. T IT 80 251 W M) &6

II.  sapoigen

Il euenpr@®ser

IV.  mrimser
O LILIV I - B) I 1L IV, TII
() I, TIL IV, 1 (D) 1, 1L 11 1V

188. Point out the wrong statement in the following :

Statements :

(A) Samudra Gupta defeated 12 kingdoms in the South

(B) Fahien’s travel account deals with the conditions of the Gupta Empire
‘;QY Skanda Gupta was defeated by the Huns

(D) Kumara Gupta issued silver coins in Western India

Spasan_ smsgssella goupnatans sliys sramSsseyn.

&(HSS|S&E |

(A)  spsdy glst Aeeanefphunaildy 12 sipaaman Ceauemaf

(B) uraflwrellar sy @Bluy GUg sTorTRwsSHen Flaaemwan edearsEHng)
(C) evaps GLST apDantsare CaHMDEQSSILLL M

(D) Ly ELsT CubE @BHwrela Geuetall prasrwisamer auphidlarTT

HLE12 72



189. The state of matter in their increasing order of entropy is
Solids, Liquids, Gases, BECs
Liquids. Gases, BIECs, Solids
Gases, Liquids, Solids, BECs
y'ﬂ BECs, Solids, Liquids, Gases

(A)
B
(C)

uu@urmeailen Hleneaerg sramg Cymisemer oy meuansuiier @ flliug

(A)
(B)
(©
(D)

ammiger. Hreumsar, cunysser, (9.@).8. s
Hyausisar, eumsaer, (9 @).8).sar, Hawwbisen
umngaen. Slyeuiise, daromser, 9.E). 5. sar

19.0) 4 s, Slastiomser, Slyairtiss, e Esdr

190. Rlack Sea is named so because

(A)

it 1s black 1n colour

ﬂ of 1ts rich concentration of micro algae

191.

(C)
(D)

its, water converts everyvthing into black

both (A) anad (C)

SRS eranm) QU GLUUL g HUUSDSTET &HTiyad

(&)
(B)
(®)
)

(a)
(b)
(©
(d)

(A)
BT

©

(D)

9ig) H(HenLo BIMEHe @) (IHLILSTE

miar sLHUrdluier H@duines Gafedlen snyemons

Sipan Bt Siamangepu swaw Hnsgbe LrhpeusTd

(1) P (B) WS QrarBid

Match the following :

Maulana Abul Kalam Azad
Mahatma Gandht
Allan Octavian Hume

Dr. Rajendra Prasad

(a) (b) (©
1 ) 3
4 3 2
2 4 1
3 1 2

(d)

W =

73

Desh

The Peoples’ friend
The Harijan

Al Hial
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Quirrsss, |

(a) Queremer SiLe SEMD aTs 1. Csey

=

i~

waeallen semLien

(®)  wsrswLT &HE

()  pevan o sGrefwen @ipuyb 3. & anfiggen
(d) s QunCobdly Sgeng 1. 21 adlevmey

(a) (b) (c) (d)

(A) 1 2 3 4
(B) 4 3 2 1
(&) 2 1 1 3
(D) 3 1 2 4

192. Which one of the following 1g a polar orbiting satellite?
(A) INSAT (B) GSAT
(C) METSAT ( Resource sat
SLpEHETLuDHMIET gi(Healll UTeGews FHmb CswnessCameT eg)?
() INSAT (B)  GSAT

(C)y METSAT (D) Resource sat

193. Thermal power stations are located in
' 'A)5 Tuticorin, Ramagundam, Rajghat (BY Narora, Kaiga, Palghat
(C) Caddalove, Kota, Tarapur (D) Salem, Pune, Narora
Sieoed Whles Blenen i BI&eT HIEHDBEIETET Gl BI&ET
(A F168516BY. TTDEETLLD, ST (B) sCrmyn, mssT, LTOSTL

(C) s, Gamiin, srymigyd (D) CGeew, i Car, sGragm
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194. Match the following :

(a)
(b)
(¢)
(d)

Manchester of South India
Little Japan
Textile Capital of TamilNadu

Detroit of South Asia

(a) (b) (e (d)

\/()6' 3 1 4 2
(B) 3 1 2 4
© 1 3 4 2
(D) 2 1 3 4
QUITHESS
(a) Qsar Qudwmeilen wrenQsevLit
(b) Gl slumen
() Opsais sgmaBETD
(d) Ospsrdlwrefen QU ymin.

(a) (b) () (d)
(A) 3 1 4 2
(B) 3 1 2 4
(C) 1 3 4 2
(D) 2 1 3 4

195. Deflation refers to a condition of

A

©

1.  Sivakas:

2. Chennal

3. Coimbatore
4, Karur

1. feusrd

2. Qessenert

3. Gamwubygani

falling

constant

4. &I
prices.
(B) rising

(D) moderate

LasTeuT_ LD &Tetu gy edlapavudlan aThs Hlenaenil s @mla@dn ?

(A)
(®)

e GenDH

afema HleavaiuBssriLH s

(B) e&lewe 2 wise

D) Ngwrer elama 2 wWige

75
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196. ldentify the odd one from the group of materials given below :

Glass. cbonite, copper, rubber

(A) ebanite \/(R’ﬂ copper
(C) ¢lass , (D) rubber

&Cy QzrB&ssun fdrer QurLlsafier GwsEnE QunEpaTEuDenn SaETL .

s

SOy, eTGUREnaN., &MU, FUL.
(A erCunmeneni (B) &mour

(C) sawawmyg (D) gour

197. Which of the following statements about 'sound’ 1s TRUL?
I It consists of longitudinal and transverse pressure waves
I1. I»t travels through vacuum
ITI. Beats are produced due to interference of sound waves
IV. Intensity of sound 1s measured in Hertz
(A) TandlIl B) Ilonly
(C) I only (Dy TII and IV
Qaflepit LpMlus SpaaL g pnsalld sNureaemey aTaneu?
[ gdurag Qs Lameosd dHMID @&ndHEmser Osrea g
II.  gdwrearg Qeuni_sSlepb wenfls@n
I g6l semevsaian masl () efearellarma o am _reug) eDODSET 2@ 0
IV. o sime Qedleilen iaeE, Hamit e o, @n
(A) T wpmw ]I (B) I wl @wn

ﬂ 11T wl (G M) T npon TV
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198. Which of the following compilation of Nalayira Divya Prabandam (4000 sacred Hymns) is
correctly matched?

(A)  First thousand Hymns — [yvarpa
‘\))})}1 Second thousand Hymns — Periyva Thirumozhi
(C) Third thousand Hymns — Thixruvaimozhi
(D) Fourth thousand Hymns — Thivumozhi
Sipssa_eupmien sreTudy deuwl Gyupssden erhs Qar@uy slurs Qummgssuul Hererg,?
(A)  pseomirn ur s — @uinur
B)  Eras_rordpn uridser — Quilw SmGwmpl

(C)  epapron@rn urL et — Smetmu@wn

(D)  prasmnrdyn un dser — $mGuwmyd

199. Purat.h Thooimal Necraan Amaiyum; Agath Thooimai.. ...
(A) Thavaththaan Varum ﬁ Vaaymaiyan Kaanappadum
(C) Thoontak Kedum (D) Olivodu Ozhugappadum
Um& STienn Brmer epwb; HNSSEIUIEHLD eTHE T flwiiuHin?
(A)  seugsne aumid (B)  evmwenwwinen smreruu (D

(C)  grewsLs Qs (D)  @alQWI® s uGED

200. Which of the following is called as ‘Thodar Nilaicheyyul’?
(A) Neethi [lakkiyam (B) ILttuthokai Noolka)
\},C/f' Epic Literature (D) Pillaithamizh Ilakkiyam

‘@arin Hlepars Qe er erarp QT &1 (B @esd suems cTg:?

(A) £ @esdwb (B) al@s@snens mrévser
(©)  sribw Qevsdwubd (D)  Qearenerssiip QesHwb
A 77 HLE12
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SPACE FOR ROUGH WORK
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s (TIITT)

2012
QuTg g midewb Gurg <iblejn

si@ndsaiiuHerar Crrb 3 wanl) [Gungs wHLQuaraar ; 300

enisense udaafisguear Spssar. dey@rs@mar SUSTOTEL UG &EEQ LD

~1

10.
11.

12.
13.

&AW sidleyenyser

@es  efemd  Qzramluy  exm Cugronesw [Es wssgos)s Gerteriaenn Caonsy Qamudim b Crrsdio
ellenglanalens nsEluy saranat LumnT s sussiuilao Cogympeanwud 808 sl ng. cllanmstlsra g
HmdgbLig uime Qsiiens sersraillunerfiL ukmia Qupned Gogliepulen cung naang saueaninTs sl05si5 £ nas
Beuawt(Hi. 2isen ey CaamellsEnag cinwalsss Qgr ks,
@sg alarrs argy 20070 angsmend Qanax(yeateng). ol wallas Qsr k. gopen Betedarsasn sl
GTEOEVT GGG B 1D e ol meenencum eremLien sy @enL ulad) g it Qo hDisETaTHE S eTaTEIeIN TERLEHSWID
#flurigad QeTerareyid.
SR 6STT&EsER&E D eNeL wialdaoyd. T stlarrsa@sn swwrs S UGuaTEET CE a6,
o misERnLw Ufla] eamenest @b LEFFEA ueg G apapauies SBHESE HMIOBSIETT G bEld Brisar
as CaaHid. Ceumy aravguyin allenng Q@ lilile: er(psd s ng).
clepL &anad @MEe1s GML L ar@n, afledL g8 Qg 2 RKiEEhHE s@sre iurarrd saflunss suudn.
chlavi_ganefier ipse LESLA® 2 RisEsenL W L ey sradr, Guwi, elermdQsr@ iy euflens areir (S1. No.) wbmib
Cal_Bearar eflugmassen Brisar erips CouarT(Mib, seuilanie) o maeng) efenl E416r 65 0OTSSN SR,
o maEpLWw ey aran, GCorasandr erarr wHYL elangAgnELy euflens eram (S1. No.) (waeweumenmulb
Nensanaflen EGTamLnd LEs5H0 DOUSERESTH MO LHHEe GLmsalls Sob swwg smow Hn
anIsl jant_w LEgpenel Cusnmefilenra @ Mg s amt’ . Ceuan (b, GuibaeiiL. o LgiuseneaT eflan_darafid Rrisdr
GD&81E &1L A& sauilenmed @ madr flevlggnen Usdansgnasul b. ‘
eaulleunm afamayd (A), B). (C) wimtd (D) eran wrising, oenL semes Damdii(neamens. Fiae mammefior 7 gym sfwnes
aflenLeni s Gatey Qag) efent darala @ibdgs am1 Couaor®d. epemysxs CuopunL sl silee sem sy m Caaelilag
GumliLgnas sidemes Gt Bss sfwires) ereimy aengs sEGIBIEGT 2iBg eflenL eu aflenmnealles @Péss sm i
Gouesr(Hid. erliugumiSignn exm Caerefiis, @1 g eSent e sgran Caills(hias (a@mbib. o REErm W CLOTES
whLQusirsar Eriaat efles sgnafle @dldgs sn (i sflurar ellen salidr cramanfZansenluls Quinpusssy.
alenLggmefan speulaun(y, Gaanel eramanlib@w erdifler [A), [B], [C) wimd D] eran prssig eNenL sa01 maat o araia.
2 Caaedlse Qe weanss frisa sflCwa smeb ellerau Gy qm el salt sfld LB Ubg peean
GuanmeSenne @ilEgis s GoudaB. gei@eunm Caaells@b am elen_mws CampesHas edassrald @hss
Goua(w. am Gaatelan, genmisn Cupul L e wealgared sihs el gountamis shEUUGWL. S SNIeaTLNs
friaser [B] erenucns stlurar afleswinas s mhlenmes 2ieng Qancumwnn @hlsss smit. Couam(Hib.

(A] [ (C) (D]
frgar edams QgrgLban ahsl usssasLD BH6Cun oidag ifiasCar murg. Casta Crride Qbs
alenrg QgrELGmarCur sioag efen ganaarGur Csias s gars el Qeaiudd ar(DHss Q5oL 14

Qeuellanng QguE s Neneng GHiey Py haheyLan Briser o kaenL o eh&gsF Qsda@m.

@uyser arpdll urrughE Aawg Qsuelibar soL.d LEESHNE aussses 2 LGWISiZLE Qarararmd.
CGupsarL elfdsald aeguraug Shamd Caiauraaub apga(E@n pLansmssenss eaams GrA@n
gar sfleunFsILOEDT.

101 @psd 200 auenyullaomar edanngsalla gy mbo eugelsn Qar@sssuHaer GHULGETSTE (PgeuranBnELD.
Nenrg QgrELdo efen mu GO Gaun, @R LA H& srlI_Geur smiLirg).
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